v 9: The Distributive Property
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ae Question: How do I use the distributive property:
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A. Withouta calculator, multiply: 28-3.

1 .Explain your strategy. 7. Use the square strategy
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Problem you just dia:
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Problem you just did:

The distributive property says for all real numbers a, b, and c,

ab+9= 0o + 0L

a(b + c) is called '\‘ § C:\’D‘(&d form ab + ac is called QX_T#X”ES( \ C\ﬁ' (\,... ~_form

C. Use the Distributive Property to write each expression in expanded form.

. 1. 3(x+5) "202{: t 50' F> 2. 6(2x-4) O O&X " Q e:-_l:%
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D. Use the distributive property to solve each equation
Together:
2(3a+2)=-8 |
) _( *2) : 2) ~(3k-12) = 48
3:5%+3Q -}
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B works) —4(2x+3)=10

A |
,¥Y0u Try: 6(2_5x —8) = —12
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